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UG 1st Semester (Honours) Compulsory Examination, 2019-20

ENVIRONMENTAL STUDIES BOOK§RIES
Course ID : 11810 Course Code : ENVS/AECC-1

Course Title: Environmental Studies

Time: 45 Minutes Full Marks: 40

Instructions to the examinee regarding Environmental Studies paper.
1. The Question-Booklet is comprised of 40 Questions and each question carries 1 (One) mark.

Question-Booklet-4 (5 40T 2Mikalt e itz @3k 2fsl 2eaa Sia 1(9F) |

2. Each Question possesses 4 (Four) answer Options, examinee must put ( ®) mark for correct answer

in the appropriate circle of OMR Sheet.

Afsf aoea 4 (519f6) F@ Options Mz @R 2FrFITE SN2 APE TeE AT OMR-9
(o) oz @ma|

3. Each Correct Answer will be credited with 1 (One) Mark.
st 7 Tema W 1 (9) |
4. No Mark will be deducted for attempting Wrong Answer or Incorrect attempts.

el TERE G (I T AW A Al

5. If an Examinee attempts more than 1 (One) Box or Option for a Question, the attempt will be

considered as wrong Answer.

I @I AFA GHEE Box-9 (o) BF @ ©f vo Ted AR ooy =1
6. Only Blue/Black ink pen is to be used for Answering Questions.
@G G S I FI (o AR T ACE A Ted @I (D |
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1. The biggest nuclear accident occurred in
(A) New York
(B) Chernobyl
(C) Bhopal
(D) Beijing

2. In which temperature, natural gases are
liquified as LPG?

(A) —28°C
(B) — 184°C
(C) —212°C
(D) —34°C

3. Kaziranga National Park is famous for
(A) Lion
(B) Tiger
(C) Deer
(D) Rhino

4. Which one is not an organochlorine
compound?

(A) DDT

(B) Aldrin
(C) Malathion
(D) BHC

5. Which gas is likely to be increased in the
atmosphere by deforestation?

(A) Nitrogen
(B) Oxygen
(C) Carbon di-oxide
(D) Sulphur di-oxide
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1. (IR *20a J2ew ARl 761 q0ofes 2
A) Fezs

2. (I OHANGR ARFR 571 LPG-C #Ifere
SRR

(A) —28°C
(B) — 184°C
(C) —212°C
(D) —34°C

3. e SIS Supie (e 21w G Ko ?
(A) Pz
(B) 9
(C) 24
(D) T

4. 93 & @0 SRR @9l 72
(A) DDT
(B) SyeTge
(C) Syl
(D) BHC

5. LT T ARE@E @ oot e
3 ?

(A) «RGCE

(B) wIfEeH

(C) FI3 Tiz-sr=zT
(D) T TiZ-SIHTG
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6. Which element is the cause of Itai-Itai
disease?

(A) Cd
(B) As
(C) Pb
(D) Hg

7. Objective of Kyoto Protocol was

(A) Reduction of 5% GHGs emission by
2010.

(B) Reduction of 5% GHGs emission by
2011.

(C) Reduction of 3% GHGs emission by
2010.

(D) Reduction of 5% GHGs emission by
2012.

8. Love canal affairs is famous for dumping of
(A) Chemical waste
(B) Biomedical waste
(C) Radioactive waste
(D) Pesticidal waste

9. The word “Environmental Education’ was
first used in

(A) 1972 at Stochoem Conference
(B) 1948 at IUCN Conference
(C) 1982 at Nairobi Conference
(D) 1992 at Rio Conference

10. Example of an extinct animal in India is
(A) Dog
(B) Fox
(C) Tiger
(D) Dodo

6. (I GIeT 2512 - 2612 (@I FIFel 2
(A) Cd
(B) As
(C) Pb
(D) Hg

7. TRIG! (RGBT 7 75 oot —

(A) 2010 AT T2 5% fal=ies sesfera
feyofsm g1 411 |

(B) 2011 AN S 5% fa==1® simiesfera
feyofsm g1 41t |

(C) 2010 AT e 3% fa=ie st fera
feyofsm g1 411 |

(D) 2012 AT &5 5% falzies siesfera
feyefsm g1 41t |

8. =TS FIIeT GO (e 40T TSy ol
ey TS 2

(A) FPTEf q)

(B) GG &)
(C) (&g I

(D) Foaris omicefa 73l

9, “off =l M #1710 AU @I ACIEE 2L
BISREECIPGE

(A) 1972 AT F6IEIS AT
(B) 1948 AIts1 TUCN AT
(C) 1982 A WA AT
(D) 1992 A Re AT

10. ©R0eT @31 Reqe ATg Suigaet 2
(A) ¥4
(B) (I
(C) A
(D) coitel A



11. Which of the following is not primary
pollutants?

(A) Ammonia

(B) PAN

(C) Sulphur di-oxide
(D) Hydrogen sulphide

12. Wildlife week is celebrated on and from
(A) 15-21 October
(B) 15-21 June
(C) 1 -7 October
(D) 1-7 June

13. An exhaustible renewable resource is
(A) Coal
(B) Fresh water
(C) Solar energy
(D) Petroleum

14. Which one of these gases is common in
Troposphere, Stratosphere, Mesosphere and
Thermosphere?

(A) Carbon di-oxide
(B) Nitrogen

(C) Oxygen

(D) Nitric oxide

15. Kuznets curve is meant for establishment
of relationship between

(A) Environment and Pollution
(B) Environment and Development
(C) Environment and Family welfare

(D) Environment and Population
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11. fafiesfr s @b i @ a7
(A) SpicfeR
(B) PAN
(C) TR TiR-oaizy
(D) TGS ARG

12. IV ALR e T 27
(A) 15 -21 93RS
(B) 15-21g+
(C) 1-73RA
D) 1-79

13. @35 HIAE ATHATAEN] T 2o
(A) 7Tl
(B) FIg &
(C) FTifE
(D) coicgiferam

14. @3 spPsferm sy @ o Geellfrs,
BIIFrE, TR @3k AGhFEE seatam ¢

(A) FET Tiz-w@ET
(B) G

(C) wIfEeH

(D) il wEize

15. T G S =F 2Af oD T A
C—

(A) A= @ g3dl

(B) “Iffiat @ Tz

(C) ~Ifi=i @ s F=el
(D) =™l @ e
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16. Full form of OPEC is

(A) Organisation of Petroleum Expert
Countries

(B) Organisation of Plant Exporting
Countries

(C) Organic Product under Ex-situ
Conservation

(D) Organisation of Petroleum Exporting
Countries
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16. OPEC -93 2[cal Jt 37=7)¢f 1% z&1

(A) Organisation of Petroleum Expert
Countries

(B) Organisation of Plant Exporting
Countries

(C) Organic Product under Ex-situ
Conservation

(D) Organisation of Petroleum Exporting
Countries

17. The species having a dominating influence
on the community and which may cause imbalance

17. @ =wifs @l WS SReaBice 26 AT
@32 (I A (It GIAcelBice siaf¥e @l I (iR

when removed from the community is called— A I
(A) Keystone species (A) EE geife
(B) Flagship species (B) Fif geife
(C) Unique species (C) T 2feiifs
D 11 i
(D) Umbrella species (D) =re! #Eife

18. Records of all animals and plants are

18. W& 21T ¢ Sfgwma «fafbfe shex T3

available as per IUCN. _ IUcCN wﬁ |
(A) Blue data book (A) e (@5 Bl
(B) Yellow data book (B) 2 (Tl IF
(C) Red data book (C) 11 (Tl 35
(D) Green data book (D) 9 (6! I

19. Which one is not particulate pollutant? 19. a3 T (@FE0 TS T 2

(A) Ozone (A) sl
(B) Dust (B) gl
(C) Soot (C) e
(D) Smoke (D) &

20. Example of organism in series in Detritus
food chain

20. G AMEETR G I i Snrzge
Eal
(A) Grass - Deer — Tiger

(B) Grass — Rabbit — Fox

(C) Decayed greenleaves — Zooplankton
— Fish

(A) 91 — 2fae — "

(B) €™ — A0 — e

(C) =I5 & el — GG — A%
(D) & Sfgn — Ffe — e

(D) Green plant — Grass hopper — Frog



21. Gujrat cyclone and Orissa super cyclone
occurred in the years

(A) 1998 and 1999
(B) 2001 and 2002
(C) 2000 and 2001
(D) 1997 and 1998

22. Which of the following units is used to
measure water pollution?

(A) PPM
(B) Dobson
(C) dB

(D) Mg/m?

23. GeneBankis
process.

type of conservation

(A) Ex-situ conservation
(B) In-situ conservation
(C) Sanctuary

(D) Biodiversity hats pet

24. In which state of India, percentage of forest
is highest?

(A) Manipur
(B) Assam

(C) Meghalaya
(D) Maharashtra

25. Which of the following human activities
causes maximum environmental damage having
regional and global impact?

(A) Urbanization
(B) Industrialization
(C) Pisciculture

(D) Agriculture
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21. @EEIG ARCEPIN @ CREA| A Al qCb e
BRjGEeY

(A) 1998 @<k 1999
(B) 2001 @<r 2002
(C) 2000 «@<x 2001
(D) 1997 @<k 1998

22, U W (PN QIO Gel g9 A
[T 22
(A) PPM
(B) T
(C) dB
(D) Mg/m?

23. &9 AT (I (A TRTH oG 2
(A) GF-FF 7T
(B) Z-Pp 7l
(C) rpIf
(D) & (Ab@eey Sz

24, ©RCST (P ey TS *Tol sAfel
HCEIH 2
(A) s
(B) =
(C) 9IeTy
(D) ==Y

25, fsfefie s 8 Frere o ey @b i
AfC 7 503 T wNieeferss @ e el i e 2

(A) T
(B) Tz
(C) N7 517

(D) FfwrE
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26. Temperature required for cryogenic

preservation is
(A) 0°C
(B) —4°C
(C) —196°C
(D) —90°C

27. Main component for biogas production

include
(A) Animal faecal matter
(B) Food stuff
(C) Plant material

(D) Sewage water

28. The book ‘Silent Spring’ was written by
(A) Anil Kapur
(B) Madhav Gadgil
(C) Rachel Carson
(D) E. O. Wilson

29. Hotspot is related with
(A) Food chain
(B) Ecological Pyramid
(C) Biodiversity
(D) Niche

30. Number of living child births per year per
thousand people is called—

(A) Natality

(B) Mortality

(C) Crude death rate
(D) Crude birth rate
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26. TIQCTF FRTHE G ©12El 2
(A) 0°C
(B) —4°C
(C) —196°C
(D) —90°C

27. (9lIR P (ol 2l Somae—
(A) 2T &
(B) AR SR
(C) Tfges »mief
(D) TR &

28. MR Pk’ @ha @/ ERE—
(A) S FieE
(B) N3 airefee
(C) G I
(D) 2. ¢. TP

29. 2575 (@0 A TS 2
(A) A &[T
(B) IgecEa f=ifie
(C) &R e
(D) fg

30. 2fS aFgEE E forg TRE Gw e
GARICE

(A) &
(B) o=«
(C) 2= TR

(D) & T2



31. Inwhichyearwater (Prevention and control
of pollution) Act was enacted?

(A) 1974
(B) 1947
(C) 1957
(D) 1975

32. Human Papilloma Virus (HPV) is causing a
disease to the women known as

(A) Skin caner
(B) Breast cancer
(C) Uterine cancer

(D) Liver cancer

33. Name two hydroelectric plants in West
Bengal.

(A) Durgapur and Barakar

(B) Jaldhaka and Mython

(C) Tarapur and Rampur

(D) Messenjor and Bakreshwar

34. Two health programs in India are
(A) HIV and AIDS
(B) WHO and COPD
(C) SNP and ANP
(D) NMCP and NLEP

35. Sundarban is a
(A) National park
(B) Ramsar wetland
(C) Tiger reserve
(D) All of the above
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31. F© A & (R4 2lfor@ia ¢ fge) =izs
RIS

(A) 1974
(B) 1947
(C) 1957
(D) 1975

32. Human Papilloma Virus (HPV) S&etMa
@36 e il R @ ifafbe

(A) B P
(B) B AT
(C) &y WA
(D) TP FPAR

33. ifFsracEE i Gelfe (e w8 el |
(A) 7ofiofa @3 QI
(B) @b @R 2L
(C) SRS 4R AN
(D) CTCTER Q3R 6T

34. O Y TIOR T A AN T4
(A) HIV and AIDS
(B) WHO and COPD
(C) SNP and ANP
(D) NMCP and NLEP

35. W TE G
(A) SIS Twpie
(B) =T wirg ™
(C) 3T AT G
(D) Toitaa 708
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36. Carrier of dengue disease is
(A) Culex mosquito
(B) Aedes mosquito
(C) Anopheles mosquito
(D) Housefly

37. Plants normally found in Sundarban are
(A) Alpine
(B) Arid type
(C) Grassland
(D) Mangrove

38. Moisture in the air is known as
(A) Fog
(B) Water
(C) Humidity
(D) Snow

39. Name the State Flower of West Bengal.
(A) Rose
(B) Lotus
(C) Night-flowering Jasmine
(D) Marigold

40. is under the category of e-waste.

(A) Broken computer
(B) Broken bicycle
(C) Broken opticals
(D) Broken lock

36. (TP (AR 12T 2o —
(A) TSTeETs il
(B) @feat s
(C) SyicIfelemt =il
(D) w2

37. WA AT (F eenfod Siew (ral K 2
(A) STz
(B) o Sfen
(C) voref
(D) Syicate

38. Ao Pre smis Io1 =7
(A) g
(B) &=
(C) wNwe!
(D) 93«

39. ifFoaRcEE ey e 28
(A) Coleiol
(B) 7
(C) MiEait
(D) sfiwi

40. G (ot AT |
(A) S5 FITHIE
(B) SI%t AR
(C) ©iF 5
(D) SI= fst
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